MProduct Code Table
4| EP-316L
T T T T T 1 T T T
KD-type 2:1/8" 270°manual B: Branch V: CVC male C:PCTFE A: Aflow  Notshown: Blue STD-316L  : Mechanical Polished+SUS316L
diaphragm valve 4:1/4" 4 VF: CVC female A:PFA B: B flow (standard) EP-316L  : Electro Polished + SUS316L
6:3/8" W.: Butt weld P:PI C:Cflow RD:Red WH:White  SEP-316LE : Electro Polished +SUS316LE
8:1/2" 3 M.: Metal 2 GR: Green PK: Pink
. (body material) SL: Silver YG: Yellow-green
l BK: Black OR: Orange
“1 For ametal seat, we can handle only the 1/8" and 1/4 sizes. For details please speak with the sales representative. YE: Yellow PU: Purple
*2 The branched flow type is to the right of the diagram. BR: Brown

*3 In cases where there are different types of fittings, please note them in the order of Port A, B, and C of the internal flow in the diagram to the right.
Example) In the case where A port = CVC female, B port = CVC female, C port = CVC male, the model will be "VFVFV."
*4 We also can produce non-standard branched flow and four-way valves as options.

@Flow direction (standard) @Flow direction (examples of options)
Aflow B flow C flow D D
ATC A"—M—C AAM—‘iC A X Cl||A |{><—C ANTC A i c A c
B B B B B B B B
[l Dimension Unit: inch (mm)
Model Type Connection L H Hi Ha A B C [ M M M2
FRZMERT e el (jtfg)) (?72.3) %?06); (2'1?2) (2;33) (?57.3 (?'97.3) (2523) (?.7?(7» 23?2%[()5(3.8;}1 M14x1.0
PRAMESIT i CHE il éf.g) (éﬁg) (?'14.8) (12;)8) (21;8) (;{3% (g'f?g) (12§31.8) (;'5(?2) 26%%[()5’53? M20x1.0
MEEHESHG | 2 GO kil (3'7?8) (2'11.8) ((1)';.8) (égg) (Jufg) (;g%) (égg) (;';é) (;;31.8) 25“.2%?5.3?“ M20x1.0
NEEHESHAS) U GHO el éég) (?72?3) %.25 (2'18,2) (gf.g) (?'Jg) (?gg) (;'81,8) ((1)'76.8 2&)%%?8? M14x1.0
NEEHESHAD A GHO el 5'07.2) (gée.g) (?'14.3 éfg) (th.g) (;6% 8;—?3 (;f.g) (;5?% 26“.1%?3“ M201.0
FDEAERING |V GG ireme 2 (géz.g) (2'118) (?%?(3)) (;'éé) (jlf.g) (;2(2» (;'éé) (21'16.2) (;81.8) 25“.256%6.8§h M20x1.0
PRZESIIG e i (lfg) (523'72.3) %.25; (gﬁg) (gfg) (?g.g) (?'97.3) (gﬁg) (?%) Zégg%a.gh M14x1.0
BEAERIG | A it (gig) éﬁ% ((1)'14.% (é%?g) (Jufg) (;.60; (gf.g) (;é?g) (;'50.2) 26%%%?8? M20x1.0
MEEIHERIIG) | e vt ég.g) (2'11.8) (?f.g) éég) (th.g) (;g.; éég) (;ﬁg) (53.3 23?/12%%?8?1 M20x1.0
e | v mavan | 25 o o[ 1o [ [ e 1o 2ustmen [
MProduct Code Table
ol 4 [l e [ Evefi e H A [T H O FHRol ] er-ater

T T T T T T T T T T
KD-type 2:1/8" 90° manual B:Branch ~ V:CVCmale  C:PCTFE A: A flow Not shown: Not shown: Blue STD-316L  : Mechanical Polished+SUS316L

diaphragm valve  4:1/4" VF: CVC female A:PFA B: B flow Standard (standard) EP-316L  : Electro Polished + SUS316L
6:3/8" W.: Buttweld ~ P:PI C: C flow POC: BK: Black SL: Silver SEP-316LE : Electro Polished + SUS316LE

8:1/2" 3 M.: Metal 2 Push-lock  GR: Green WH: White

(body material) type RD:Red  YE: Yellow

@Flow direction
*1 For a metal seat, we can handle only the 1/4" size. For details please ask to the sales

*2 The branched flow type is to the right of the diagram. A flow B flow C flow
*3 In cases where there are different types of fittings, please note them in the order of Port A, B, and C

A C| A Cll A C
of the internal flow in the diagram to the right.
Example) In the case where A port = CVC female, B port = CVC female, C port = CVC male,
the model will be "VFVFV."

M Dimensions : : Eani'(: inch (mm)
Model Type Connection L H Hi He A B C [ M M M2

PRZUEE e (21'16?2)) (5232'328) %.25; (gﬁg) (;;.8) (?53 (?'97.3) &fé) (?%) 25“.2%%‘?8}“ M14x1.0

i MBERESE e GO kil (g%z.g) (338.(7)) ((1)'14.% (é%?g) (411';.?)) (;'60.3) (gf.g) (;'81.8) (;'50.2) zbgfé)l(ag.gh M20x1.0
) MEERIESHE i CHC s (3;).8) (ggg) ((1).65.8) (;52) (411'99.3) (;'éé) (;gg) (;535;) (;gg) 26%%%?8? M20x1.0
MEZCIERUFS Tl GuE el ééz.g) éﬁﬁ) %.253) <g'18.2) (;;g) (?'97.3 <?é7.g) (12és1.8) (?%) zé)%t(?.gh M14x1.0

W (EACEAHS | A GG Ireimel (307.2) (?3%) (?'14.(3» (12'7?8) (2158) (;é% (2'5?3) (;fg) (;5?% 26“.256%6.8§h M20x1.0
) ADEREAUFG 2 ou s (géz.g) (ggg) (?gg) (;.;g) (21'9?2) (;{34.8) (;g(g)) (21'16.2) (;'81.8) 25“.1%%‘?8}“ M20x1.0
MEZQIESE | i (lfg) (géz.g) ?7'.23 (gﬁg) (;;g) (?'Jg) (?57.?)) ((2)'18.8) (?'76;) 2&)%%?8? MT4x1.0

MBRRIESE | A vt él:.g) (?38.?)) (?'14.3 @'70_3) (Jtég.g) (;6% <gég.g) (;f.g) (;%Sg) 23?/12%%9.8? M20x1.0

E o080 | v awas | 2 38 081 | 13 10 | 142 102 130 110 A e |
PREUEE 12 i (623'97.5) (ggg) (?£8> (;'efg) (21';.8) (;g.g) (;gg) (;ﬁg) (;51.% 25“.2%%58}“ M20x1.0

Il 6 KITZSCT



